*

1/0;do/dg

=
o
N

=
o

Ratio to DO
[N

0.5

Rivet 3.1.10, = 2.5M events

1960 GeV ppbar Z (Drell-Yan)
:_I T T TTT | I I T T T T | I I T T T T | I I I_:
- @ () (muon channel, 1 < y| <2) =
__ !‘—"5‘-"5'—"55‘-“-‘*:-'-'-.,_‘ __
= 8- =
= "y -
| i __
= s =
= . S
— l! —
? Aﬁ\}g ?
= !&; =
| T ]
= m DO éi! =
—  --0-- Herwig++ 2.7.1 default \‘;“. :
=— A Herwig++ Powheg 2.7.1 default %
— v Herwig++ Powheg 2.7.1 LHC-UE-EE-4 =
| --3-- Herwig 7.2.1 default E
=T —+H - - =
B 0. -

e S T 2 ¢
ER -

- _l":{?—_- |

1072 1071

mcplots.cern.ch [arXiv:1306.3436]

N



	Contents
	Page 1


